CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:	Capital Improvement
AGENDA DATE:	January 21, 2020
CONTACT PERSON/PHONE:	Sam Rodriguez, City Engineer, (915) 212-1845 Bruce D. Collins, Purchasing & Strategic Sourcing Director, (915) 212-1181
DISTRICT(S) AFFECTED:	3 & 7
STRATEGIC GOAL: NO. 7	Enhance and Sustain El Paso's Infrastructure Network
SUBJECT: Discussion and action on the award Improvements to EL PASO A.R.C. ELE	of Solicitation 2020-261 Yarbrough North Roadway Lighting and Landscape CTRIC, INC. for an estimated total amount of \$1,621,371.86.
from I-10 to Montana Avenue. The work a complete Median Landscape System. placing pole foundations, conduit, cond system, all hardscape and all miscelland	providing Roadway Lighting and Median Landscaping on Yarbrough Drive North, k shall consist of placing a fully functional Roadway Lighting System and providing The work includes, but is not limited to, mobilization, excavation, traffic control auctors, ground boxes, poles, luminaires, electrical hardware, all planting, irrigation eous construction items and work required to furnish and install a fully functional tem in accordance with the plans, the specifications and as directed by the engineer.
SELECTION SUMMARY: Solicitation was advertised on October 1: 15, 2019. The email (Purmail) notification Five (5) bids were received, four (4) from	5, 2019 and October 22, 2019. The solicitation was posted on City website on October on was sent out on October 17, 2019. There were a total of seventy two (72) viewers in local vendors.
PROTEST	
No protest received for this requirement	ment.
Protest received.	
COUNCIL REPRESENTATIVE BR	IEFING:
Was a briefing provided? Yes or If yes, select the applicable districts	
District 1 District 2 District 3 District 4 District 5 District 6 District 7	

All Districts

AMOUNT AND SOURCE OF FUNDING:

Sam Rodriguez, City Engineer

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **JANUARY 21, 2020**.

STRATEGIC GOAL 7: Enhance and Sustain El Paso's Infrastructure Network

This award will help to improve the traffic safety by installing a fully functional roadway lighting system. It will also help to improve the competiveness through the beautification of the medians located on Yarbrough from I-10 to Montana Avenue, both positively impacting the quality of life of the community

AWARD SUMMARY:

Discussion and action on the award of Solicitation 2020-261 Yarbrough North Roadway Lighting and Landscape Improvements to EL PASO A.R.C. ELECTRIC, INC. for an estimated total award of \$1,621,371.86. The project scope of work consists of providing Roadway Lighting and Median Landscaping on Yarbrough Drive North, from I-10 to Montana Avenue. The work shall consist of placing a fully functional Roadway Lighting System and providing a complete Median Landscape System.

Department: Capital Improvement

Award to: EL PASO A.R.C. ELECTRIC, INC.

El Paso, TX

Item(s): Base Bid I

Initial Term: 270 Consecutive Calendar Days

Base Bid I: \$1,621,371.86 Total Estimated Award: \$1,621,371.86

Account No.: 190-4740-28900-580270-PCP19ST016

Funding Source: 2013 Street Infrastructure

District(s): 3 & 7

This is a Low bid, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to EL PASO A.R.C. ELECTRIC, INC., the lowest responsive, responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

2020-261 Yarbrough North Road Improven BID TAB SUI	nents
	Base Bid I
El Paso A. R. C. Electric, Inc.	\$ 1,621,371.86
Tri-State Electric, Ltd	\$ 1,766,951.25
Black Stallion Contractors, Inc.	\$ 1,890,187.26
Horizone Construction 1, LTD	\$ 1,937,333.36
Martinez Bros Contractors, LLC	\$ 2,170,543.00

.





BID NO: 2020-261 BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements **DEPARTMENT: Capital Improvement** BID DATE: November 20, 2019 Black Stallion Contractors, Inc. El Paso A.R.C. Electric, Inc. Horizone Construction 1, LTD El Paso, TX El Paso, TX El Paso, TX Bidder 3 of 5 Bidder 1 of 5 Bidder 2 of 5 **Total Amount Unit Bid Price Total Amount Unit Bid Price** Total Amount **Unit Bid Price** (Quantity x Unit (Quantity x Unit (In figures) (Quantity x Unit (In figures) (In figures) Only Price) Item Approx. Only Two Price) **BRIEF DESCRIPTION OF ITEM** Only Two Price) Unit Two decimals. Use two No. Quantity. Use two decimals. Use two decimals. decimals. decimals. Do not Round decimals. Do not Round **BASE BID** \$88,760,70 \$32.20 \$82,271.00 \$35,00 \$89,425.00 \$34.74 LF **BORING** 2,555 1. Contractor's Price \$88,758.40 \$386,686.08 \$6.00 \$94,776.00 \$24.48 2. 15,796 LF TRENCHING \$8.63 \$136,319,48 Contractor's Price \$39,105.53 \$94,307.40 \$103,500.00 \$103,500.00 \$96,000.00 \$96,000,00 \$94,307.40 LS TRAFFIC CONTROL 3. 1 \$21,090.91 \$21,090.91 **SWPPP** \$28,750.00 \$28,750.00 \$1,500.00 \$1,500.00 4. 1 LS \$38,064,00 \$1.05 \$32,760.00 \$1,22 5. 31,200 SF MEDIAN ROCK I - FRANKLIN RED \$0.92 \$28,704.00 Contractor's Price \$38,205.02 \$20,553.00 \$5.27 \$4.54 \$17,706.00 SF MEDIAN ROCK II - COBBLE \$2.88 \$11,232,00 6. 3,900 Contractor's Price \$20,567.76 \$25.00 \$57.18 \$18,583.50 \$11,212,50 \$8,125.00 325 CY MEDIAN DEMO \$34.50 7. \$6,049.92 DISPOSAL \$57.50 \$2,645,00 \$25.00 \$1,150.00 \$131.52 Contractor's Price 8. 46 TN \$6,050.00 \$1,606.60 \$1,150.00 \$25.00 \$250.00 \$160.66 9. 10 SY CONCRETE DEMO \$115.00 Contractor's Price \$1,606.64





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements

BID NO: 2020-261

BID DATE: November 20, 2019

DEPARTMENT: Capital Improvement

BID DA	TE: November 2	20, 2019						DEPARTMENT: C	apital Improvement
			EIP	a Contractors, Inc aso, TX ler 1 of 5	El Pas	.C. Electric, Inc. so, TX r 2 of 5	El Pa	struction 1, LTD	
ltem No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures) Only Two decimals. Do not Round	Total Amount (Quantity x Unit Price) Use two decimals. Do not Round	Unit Bid Price (In figures) Only Two decimals. Do not Round	Total Amount (Quantity x Unit Price) Use two decimals. Do not Round	Unit Bid Price (In figures) Only Two decimals. Do not Round	Total Amount (Quantity x Unit Price) Use two decimals. Do not Round
das de altre Receive altre Portuga				BASE	BID				
10.	846	EA	5 GALLON SHRUBS	\$80.50	\$68,103.00 Contractor's Price \$805.00	\$35.00	\$29,610.00	\$41.40	\$35,021.97
11.	78	EA	2" CAL. TREES	\$293.25	\$22,873.50	\$418.00	\$32,604.00	\$484.24	\$37,770.72 Contractor's Price \$37,770.88
12.	22	EA	15 GAL. TREES (6' HEIGHT)	\$293.25	\$6,451.50	\$180.00	\$3,960.00	\$205.94	\$4,530.68 Contractor's Price \$4,530.77
13.	50	EA	BOULDER(S)	\$287.50	\$14,375.00	\$180.00	\$9,000.00	\$205.94	\$10,297.00
14.	1	LS	IRRIGATION	\$69,000.00	\$69,000.00	\$119,683.00	\$119,683.00	\$132,748.62	\$132,748.62
15.	1	LS	ELECTRICAL DEMOLITION	\$5,750.00	\$5,750.00	\$3,500.00	\$3,500.00	\$9,323.05	\$9,323.05 Contractor's Price \$9,923.05
16.	98	EA	LIGHT POLE	\$7,072.50	\$693,105.00	\$5,400.00	\$529,200.00	\$5,778.19	\$566,262.62 Contractor's Price \$566,262.29
17.	98	EA	LIGHT POLE WITH BASE	\$1,811.25	\$177,502.50	\$2,000.00	\$196,000.00	\$2,178.00	
18.	6	EA	FUSED DISCONNECT	\$1,380.00	\$8,280.00	\$500.00	\$3,000.00	\$1,043.63	\$6,261.78 Contractor's Price \$6,261.75





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements BID NO: 2020-261 **DEPARTMENT: Capital Improvement** BID DATE: November 20, 2019 Black Stallion Contractors, Inc. El Paso A.R.C. Electric, Inc. Horizone Construction 1, LTD El Paso, TX El Paso, TX El Paso, TX Bidder 1 of 5 Bidder 2 of 5 Bidder 3 of 5 Total Amount Total Amount Total Amount **Unit Bid Price** (Quantity x Unit **Unit Bid Price** (Quantity x Unit **Unit Bid Price** (Quantity x Unit Item (In figures) Price) (In figures) (In figures) Approx. Price) Price) Unit **BRIEF DESCRIPTION OF ITEM** No. Quantity. Use 2 decimals. (In Figures) Use 2 decimals. (In Figures) Use 2 decimals. (In Figures) Use 2 decimals. Do not Round Use 2 decimals. Use 2 decimals. Do not Round **BASE BID** \$11,271,18 6 EΑ **PANEL** \$2.875.00 \$17,250.00 \$3,000.00 \$18,000.00 19. \$1.878.53 Contractor's Price \$11,271.75 \$626.16 20. 6 EΑ SERVICE GROUND \$1,380.00 \$8,280,00 \$200.00 \$1,200.00 \$104.36 Contractor's Price \$626.18 \$38,232.32 LF 21. 16.064 2" ELECTRIC CONDUIT \$9.20 \$147,788.80 \$4.00 \$64,256.00 \$2.38 Contractor's Price \$38,272,32 \$34,193.25 22. 32,565 LF #8 WIRE \$1.44 \$46,893.60 \$1.50 \$48,847.50 \$1.05 Contractor's Price \$34,241,77 \$33,190.30 23. 25,531 LF #6 WIRE \$1.67 \$42,636.77 \$1.90 \$48,508.90 \$1.30 Contractor's Price \$33,302.13 24. EΑ **ELECTRIC BOXES** \$632.50 \$70,207.50 \$950.00 \$105,450.00 \$665.50 \$73,870.50 111 \$5,405.00 25. RIPRAP \$172.50 \$300.00 \$540.50 10 CY \$1,725.00 \$3,000.00 Contractor's Price \$5,445.00 \$2,864,80 LF 20 **CURB CUT & REPLACEMENT** \$690.00 \$75.00 \$1,500.00 \$143.24 26. \$34,50 Contractor's Price \$2,864,89





BID TIT	LE: Yarbrough	North Roadwa	ay Lighting and Landscape Improvements						BID NO: 2020-261
BID DA	TE: November 2	20, 2019						DEPARTMENT: C	aptial Improvement
				. [1	Contractors, Inc aso, TX	El Paso A.R.C. Electric, Inc. El Paso, TX		Horizone Construction 1, LTD El Paso, TX	
				Bidder 1 of 5		Bidder 2 of 5		Bidder 3 of 5	
Item No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round
	TOTAL BASE BID (Items 1 thru 26)		\$1,806,696.15 Contractor's Price \$1,739,398.15		\$1,559,011.40		\$1,891,018.49 Contractor's Price \$1,543,829.14		
MOBILIZATION (Not to Exceed 5% of Total Base Bid)		\$83,491.11		\$62,360.46		\$46,314.87			
		\$1,890,187.26				\$1,937	7,333.36		
	SUM TOTAL (Base Bid plus Mobilization)		Contractor's P	Contractor's Price \$1,822,889.26		,371.86	Contractor's Price \$1,590,144.01		





BID TIT	LE: Yarbrough	North Roadwa	ay Lighting and Landscape Improvements						BID NO: 2020-261
BID DA	TE: November 2	20, 2019						DEPARTMENT: C	aptial Improvement
				4 ■	Contractors, Inc aso, TX		.C. Electric, Inc. so, TX	Horizone Construction 1, LTD El Paso, TX	
				Bidd	er 1 of 5	Bidde	r 2 of 5	Bidde	er 3 of 5
Item No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round
			AD	DITIVE ALTER	RNATE 1 - ITS				
1.	30	EA	IT BOXES	\$1,150.00	\$34,500.00	\$4,500.00	\$135,000.00	\$3,114.54	\$93,436.20
2.	13,695	LF	3" IT CONDUIT	\$6.90	\$94,495.50	\$4.50	\$61,627.50	\$3.17	\$43,413.15 Contractor's Price \$43,382.75
3.	13,695	LF	TRENCHING	\$13.80	\$188,991.00	\$6.00	\$82,170.00	\$2.48	\$33,963.60 Contractor's Price \$33,904.16
86 (QL/25)								11.000	
	SUM ADDITIVE ALTERNATE 1 (Items 1 thru 3)		\$317,986.50		\$278,797.50		\$170,812.95 Contractor's Price \$170.723.11		
MO	BILIZATION (No	ot to exceed 5	% of Sum Total of Additive Alternate 1)	\$15,	263.35	\$10,0	00.00	\$5,121.89	
	SUM TOTAL (Additive Alternate 1 and Mobilization)		İ	,249.85 Price \$33,249.85	\$288,7	797.50	\$175,934.84 Contractor's Price \$175,844.80		





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements BID NO: 2020-261 BID DATE: November 20, 2019 **DEPARTMENT: Capital Improvement** Black Stallion Contractors, Inc. El Paso A.R.C. Electric, Inc. Horizone Construction 1, LTD El Paso, TX El Paso, TX El Paso, TX Bidder 1 of 5 Bidder 2 of 5 Bidder 3 of 5 **Total Amount Total Amount Total Amount Unit Bid Price** (Quantity x Unit **Unit Bid Price** (Quantity x Unit **Unit Bid Price** (Quantity x Unit Item Approx. (In figures) Price) (In figures) Price) (In figures) Price) Unit **BRIEF DESCRIPTION OF ITEM** No. Quantity. Use 2 decimals. (In Figures) Use 2 decimals. (In Figures) Use 2 decimals. (In Figures) Use 2 decimals. Do not Round Do not Round Use 2 decimals. Do not Round Use 2 decimals. Do not Round Do not Round Do not Round ADDITIVE ALTERNATE 2 - LANDSCAPE LIGHTING 9 EΑ TRANSFORMER, 240V, 300W \$747,50 \$6,727,50 \$335.00 \$3.015.00 \$890.56 1. \$8,015.04 \$4,132,80 2. 9 FΑ **ACUITY REN127 NM1** \$414.00 \$3,726.00 \$195.00 \$1,755.00 \$459,20 Contractor's Price \$4,132.76 \$40,609.28 3. EΑ **SPOTLIGHT** 128 \$270.25 \$34,592.00 \$185.00 \$23,680,00 \$317.26 Contractor's Price \$40,609.54 \$10,150.00 4. 5.000 LF LOW VOLTAGE CABLE \$9,500.00 \$1.60 \$1.90 \$8,000.00 \$2.03 Contractor's Price \$10,161.17 \$13,100.00 5. 5.000 LF TRENCHING \$15,000,00 \$2.30 \$11.500.00 \$3.00 \$2.62 Contractor's Price \$13,080.10 \$475.92 6. 9 EΑ ELECTRIC BOXES \$46.00 \$414.00 \$600.00 \$5,400,00 \$52.88 Contractor's Price \$475.89 \$9,657,00 7. 5.220 LF #8 WIRE \$1.61 \$8,404.20 \$1.50 \$7,830.00 Contractor's Price \$1.85 \$9660.63 \$86,140,04 SUM ADDITIVE ALTERNATE 2 (Items 1 thru 7) \$74,863.70 \$64,680.00 Contractor's Price \$86,135.06 MOBILIZATION (Not to exceed 5% of Sum Total of Additive Alternate 2) \$3,593,46 \$3,000.00 \$3,445,40 \$89,585.44 SUM TOTAL (Additive Alternate 2 and Mobilization) \$78,457,16 \$67.680.00 Contractor's Price \$89,580.47 AMENDMENTS ACKNOWLEDGED Yes Yes Yes Yes **BID BOND** Yes Yes





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements BID NO: 2020-261 BID DATE: November 20, 2019 DEPARTMENT: Capital Improvement Martinez Bros Contractors, LLC Tri-State Electric, Ltd El Paso, TX Vinton, TX Bidder 4 of 5 Bidder 5 of 5 **Total Amount Total Amount** Unit Bid Price (Quantity x Unit **Unit Bid Price** (Quantity x Unit (In figures) Price) (In figures) Price) Item Approx. **BRIEF DESCRIPTION OF ITEM** Unit No. Quantity. Use 2 decimals. (In Figures) Use 2 decimals. (In Figures) Do not Round Use 2 decimals. Do not Round Use 2 decimals. Do not Round Do not Round **BASE BID** LF \$48.00 \$122,640.00 \$28.50 \$72,817.50 2,555 BORING 1. LF 2. 15,796 TRENCHING \$8,00 \$126,368.00 \$8.00 \$126,368.00 3. LS TRAFFIC CONTROL \$125,000.00 \$125,000.00 \$85,000.00 \$85,000,00 1 1 LS **SWPPP** \$20,000.00 \$20,000.00 \$7,000.00 \$7,000.00 4, SF 5. 31,200 MEDIAN ROCK I - FRANKLIN RED \$1.20 \$37,440.00 \$1.00 \$31,200.00 6. 3,900 SF MEDIAN ROCK II - COBBLE \$4.15 \$16,185.00 \$4.00 \$15,600.00 7. 325 CY MEDIAN DEMO \$30,00 \$9,750.00 \$250.00 \$81,250.00 8. 46 TN DISPOSAL \$50.00 \$2,300.00 \$200.00 \$9,200.00

SY

CONCRETE DEMO

10

9.

\$80,00

\$800.00

\$250.00

\$2,500.00





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements

BID NO: 2020-261

BID DA	TE: November 2	0, 2019						DEPARTMENT: C	apital Improvement
					Contractors, LLC aso, TX		Electric, Ltd on, TX		
				Bidd	er 4 of 5	Bidde	r 5 of 5		
ltem No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round		
alous an				BASE	BID				
10.	846	EA	5 GALLON SHRUBS	\$44.00	\$37,224.00	\$31.50	\$26,649.00		
11.	78	EA	2" CAL. TREES	\$400.00	\$31,200.00	\$366.00	\$28,548.00		
12.	22	EA	15 GAL. TREES (6' HEIGHT)	\$154.00	\$3,388.00	\$156.00	\$3,432.00		
13.	50.00	EA	BOULDER(S)	\$240.00	\$12,000.00	\$158.00	\$7,900.00		
14.	1	LS	IRRIGATION	\$78,000.00	\$78,000.00	\$102,500.00	\$102,500.00		
15,	1	LS	ELECTRICAL DEMOLITION	\$9,750.00	\$9,750.00	\$5,000.00	\$5,000.00		
16.	98	EA	LIGHT POLE	\$7,875.00	\$771,750.00	\$6,600.00	\$646,800.00		
17.	98	EA	LIGHT POLE WITH BASE	\$2,950.00	\$289,100.00	\$1,575.00	\$154,350.00		
18.	6	EA	FUSED DISCONNECT	\$850.00	\$5,100.00	\$1,200.00	\$7,200.00		





BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements BID NO: 2020-261 **DEPARTMENT: Capital Improvement** BID DATE: November 20, 2019 Martinez Bros Contractors, LLC Tri-State Electric, Ltd El Paso, TX Vinton, TX Bidder 4 of 5 Bidder 5 of 5 **Total Amount Total Amount Unit Bid Price** (Quantity x Unit Unit Bid Price (Quantity x Unit Price) (In figures) Price) Item Approx. (In figures) **BRIEF DESCRIPTION OF ITEM** Unit Use 2 decimals. (In Figures) No. Quantity. Use 2 decimals. (In Figures) Do not Round Use 2 decimals. Do not Round Use 2 decimals. Do not Round Do not Round **BASE BID** \$2,500.00 \$15,000.00 \$2,500.00 \$15,000.00 6 EΑ **PANEL** 19. \$7,200.00 20. 6 EΑ SERVICE GROUND \$325.00 \$1,950.00 \$1,200.00 21. 16,064 LF 2" ELECTRIC CONDUIT \$3.00 \$48,192.00 \$6.00 \$96,384.00 LF \$3.20 22. 32565 #8 WIRE \$104,208.00 \$1.25 \$40,706.25 LF #6 WIRE \$3.50 \$89.358.50 \$38,296.50 \$1.50 23 25,531 24. 111 EΑ **ELECTRIC BOXES** \$985.00 \$109,335.00 \$550.00 \$61,050.00 25. 10 CY RIPRAP \$250.00 \$2,500.00 \$500.00 \$5,000.00 26. 20 LF **CURB CUT & REPLACEMENT** \$30.00 \$600.00 \$500.00 \$10,000.00 TOTAL BASE BID (Items 1 thru 26) \$2,069,138.50 \$1,686,951.25 \$80,000.00 MOBILIZATION (Not to Exceed 5% of Total Base Bid) \$101,404.50 SUM TOTAL (Base Bid plus Mobilization) \$1,766,951.25 \$2,170,543.00



CITY OF EL PASO

BID TABULATION FORM



BID TIT	BID TITLE: Yarbrough North Roadway Lighting and Landscape Improvements								
BID DA	TE: November 2	0, 2019		,				DEPARTMENT: C	aptial Improvement
				Martinez Bros Contractors, LLC El Paso, TX Bidder 4 of 5		Tri-State Electric, Ltd Vinton, TX Bidder 5 of 5			4 .
Item No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures)	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures)	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round		
			ADI	DITIVE ALTER	RNATE 1 - ITS				
1.	30	EA	IT BOXES	\$2,850.00	\$85,500.00	\$1,000.00	\$30,000.00		
2.	13,695	LF	3" IT CONDUIT	\$5.60	\$76,692.00	\$6.00	\$82,170.00		
3.	13,695	LF	TRENCHING	\$8.00	\$109,560.00	\$12.00	\$164,340.00		
	SUM ADDITIVE ALTERNATE 1 (Items 1 thru 3)		\$271,752.00		\$276,510.00				
MO	MOBILIZATION (Not to exceed 5% of Sum Total of Additive Alternate 1)		\$12,500.00		\$2,000.00				
	SUM TOTAL (Additive Alternate 1 and Mobilization)			\$284	,252.00	\$278,5	510.00		



CITY OF EL PASO



			ay Lighting and Landscape Improvements						ID NO: 2020-261
BID DA	TE: November 2	0, 2019		Martinez Bros Contractors, LLC El Paso, TX Bidder 4 of 5		Tri-State Electric, Ltd Vinton, TX Bidder 5 of 5		DEPARTMENT: Cap	itai improvement
Item No.	Approx. Quantity.	Unit	BRIEF DESCRIPTION OF ITEM	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round	Unit Bid Price (In figures) Use 2 decimals. Do not Round	Total Amount (Quantity x Unit Price) (In Figures) Use 2 decimals. Do not Round		
18 (Sp) (Sp) (Sp) (Sp)			ADDITIVE AL	TERNATE 2 –	LANDSCAPE L	IGHTING			
1.	9	EA	TRANSFORMER, 240V, 300W	\$800.00	\$7,200.00	\$650.00	\$5,850.00		
2.	9	EA	ACUITY REN127 NM1	\$380.00	\$3,420.00	\$360.00	\$3,240.00		
3.	128	EA	SPOTLIGHT	\$330.00	\$42,240.00	\$235.00	\$30,080.00		
4.	5,000	LF	LOW VOLTAGE CABLE	\$2.60	\$13,000.00	\$1.65	\$8,250.00		
5.	5,000	LF	TRENCHING	\$4.60	\$23,000.00	\$1.95	\$9,750.00		
6.	9	EA	ELECTRIC BOXES	\$940.00	\$8,460.00	\$40.00	\$360.00		
7.	5,220	LF	#8 WIRE	\$3.00	\$15,660.00	\$1.40	\$7,308.00		
SUM ADDITIVE ALTERNATE 2 (Items 1 thru 7)		\$112,980.00		\$64,838.00					
MOBILIZATION (Not to exceed 5% of Sum Total of Additive Alternate 2)		\$5,000.00		\$500.00					
	SUM TOT	AL (Additive	Alternate 2 and Mobilization)	\$117,980.00		\$65,338.00			
		AMENDMENT	S ACKNOWLEDGED:	Yes		Yes			
		ВІ	D BOND	Yes		Ye	es		

2020-261 Yarbrough North Roadway Lighting and Landscape Improvements

•	L'et
	w List
1 Concha, David	CEA Group
2 Kyle, Bellomy	ConstructConnect
3 ortiz, jorge	Bain Construction
4 rokcu, sam	samr
5 Management, Source	Deltek
6 Olguin, Jeannette	Vitual Builders Exch
7 Bjornsson, Ron	Smartprocure
8 Peggy, Koehn	Dodge Data
9 Maynez, Alejandra	VEMAC
10 Hernandez, Cecilia	The Planit Room
11 Reyes, Yesenia	
12 martinez, avelardo	martinez irrigation
13 Lowrance, Gloria	Jobe Materials, L.P.
14 James, Hardison	
15 Wood, Jane	Construction Reporte
16 Balai, Rakesh	i- Sourcing Technolo
17 Austin, Fork	Wayne Enterprises
18 Hudson, Brad	Direx Construction,
19 Jones, Kim	Prime Vendor Inc.
20 Gaynor, Shabron	IMS
21 Deg, Maria	Contractors Register
22 Loganathan, Jayalakshmi	Dodge Data And Analy
23 Motta, Alejandro	Tri-State Electric,
24 Figueroa, Joseph	Jordan Foster Constr
25 Banquil, Lovely	
26 Drapes, Michael	MTI Ready Mix
27 Stallard, Robert	CSA Constructors
28 Luna, Hector	Black Stallion Contr
29 Oney, Hilary	CSA Constructors
30 McCarthy, Rebecca	Daybreak LED LLC
31 Jorge, Ojeda	HAWK
32 Ortiz, Cano	Mr.
33 Fuller, Anna	Tri-State Electric,
34 HARRISON, MIKE	DEL MAR CONTRACTING,
35 Cervantes, Marlena	J. CARRIZAL GENERAL
36 Hessney, Steve	Bowen Industrial Con
37 Gilcrease, Paul	HUB
38 Ramirez, Sal	J Carrizal Construct
39 ALLEN, STEVE	SPARTAN CONSTRUCTION
40 Guillen, Francisco	Keystone GC, LLC.
41 Watson, Frank	
42 Johnson, Kesha	WTAGC
43 Yu, Jackson	SolarMax LED, Inc
44 Flores, Amada	Aim Construction Com

2020-261 Yarbrough North Roadway Lighting and Landscape Improvements

View List

45 Gandara, Alejandro	Horizone Constructio
46 Gibson, Patty	construction Bid Sou
47 Velasco, Mario	Bain Construction
48 Cloud, Derek	Trans-American Comm
49 Doe John	Pacific Inc

49 Doe, John Pacific Inc

50 Melvin, Craig GreenBlue Urban 51 James, Leiskau AcuityBrands Lightin 52 Morris, Bryan RBM Engineeering, In 53 Caballero, Luis Caballero Electric C

54 Borja, Javier

55 Medina, Mercedes MIRADOR Enterprises, 56 Solis, Francisco Martinez Bros. Lands 57 HARLEY, KEVIN AHERN RENTALS

58 Gallegos, Mari Abescape

59 Torres, Alejandra Yanet Professional mainten

60 Medina, Steve **GRV IES**

61 monreal, vicente Life Landscaping 62 Anguiano, Carlos **Border Demolition** 63 Soto, Emili Luevanos Landscaping West Texas Landscapi 64 Gonzalez, Doroteo 65 Portillo, Myrna El Paso A. R. C. Ele 66 Pinon, Jose JAR Construction 67 Herrera, Adrian Alza Electrical

68 Ortiz, Lupe Prime Irrigation And 69 Acosta, Arami Synergy Project Cons 70 Garcia, Carlos INTEGRATED EARTHWORK

71 Hernandez, Eduardo Parkhill Smith and C

72 Chavez, Carlos